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2

Which . among - the
appointed an Enquiry Commission
under the leadership of Bhawani
Dayal in the Bijolia Peasant
Movement ?

following

(1) All India National Congress
(2) Maharana of Mewar
(3) Rajasthan Seva Sangh

(4) Rajputana Madhya Bharat
Sabha

(5) Question not attempted

Who among the following is not
associated with the Karauli
Prajamandal Movement ?

(1) Trilok Chandra Mathur
(2) Swami Gopaldas

(3) Chiranjilal Sharma

(4) Man Singh

(5) Question not attempted

During the revolt of 1857, the
arsenal of Ajmer was guarded by,
which Native Infantry ?

(1) 15th Native Infantry

(2) Her Majesty’s 83
Infantry

Light

(83) Grenadier Company of 30t
Native Infantry

(4) The Bombay Lancers
(5) Question not attempted
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Which princely state of Rajasthan
attempted to accede to Pakistan
against the policy of merging of
princely states in India by Sardar
Patel ?

(1) Bikaner

(2) Jaisalmer

(3) dJodhpur

(4) Jaipur

(5) Question not attempted

Which of the following pairs is/are
correctly matched ?

Text Author

A. Veli Krisan- — Prithviraj
Rukmani-Ri

B. Veermayan - Dursa Arha
C. Achaldas — Shivdas
Khinchi Ri Gadan
Vachnika
Codes : 7
(1) Omnly A (2 AandB
(38 AandC (40 A,BandC

(5) Question not attempted

Which statement 1is incorrect
regarding Bala Qila of Alwar ?

(1) It has fifteen big and fifty two
small Burj.

(2) Hawa Bangla Burj was
constructed by Vinay Singh.

(3) Raja Surajmal of Bharatpur
built a reservoir Surya Kund
in the fort.

(4) Chaturbhuj devi of Nikumbhas
is located in the fort.

(5) Question not attempted
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Yare % R fig [ % Srie A WHTE
Fafirg @ I f=RR 1 ™ FaET |

1) e
(2) wrESEH
(3) W

(4) W

(5) 3TIid A

fmferRaa Soft 1 AT UE R :
5, 10, 26, 50, 122, .....

(1) 154

@) 168

@) 170

(4) 182

(5) TG A

v 3 Frelt oft Tt Ao F AR H
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(1) @Wsa

(2) TR

(3) Wi

(4) U

(5) ITFuid SRA
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Name the paintef who painted
Ragamala during the tenure of
Amar Singh I of Mewar.

(1) Nisardin
(2) Sahabdin
(8) Manohar
(4) Sarangdhar

(5) Question not attempted

The next term of the following
series is :

5, 10, 26, 50, 122, .....
(1) 154
(2) 168
(3) 170
(4) 182

(5) Question not attempted

From which pilgrimage site is the
taken after the

construction of Tejaji Temple at

eternal fire

any place in India ?

(1) Khadnal

(2) Paner

(3) Kolu

(4) Sursura

(5) Question not attempted
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OB

o 2 o5 1 T e M2, @
xaﬂ'{% 1 915 81T
1 YM2-1
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@
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(5) T e

o= Yeauit Y sgd gU shH A wrafeya e
BRI % :

29, 32, 48, 50, x, x + 2, 72, 78, 84, 95
Iz 37 el & WiewH 63 &, da
LIEE

(1) 60 (2) 62

(3) 68, @) 72

(5) IFuid FeH

gasEfd A B, C, D, E,F3RG

ufe # g FAHEAR @S & | W § Al
AﬁB%HW{ﬂlOl‘ﬁa%wm}
wﬁ%ﬁ%m@lrﬁam@m%;a{
B3R FHaaglia: |
(1) 35X |
2) 32X
@) 30%f= |

(4) 34X
(5) JwIE ¥ |

10. If the arithmetic mean of x2 andx—lz'

11.

12.

: | B
is M2, then mean of x and S 18

(1) \IM2 =1
O+ )

@7
==

%)

(6) Question not attempted

3

4)

The following observations, have
been arranged in ascending order :

29, 32, 48, 50, x, x + 2, 72, 78, 84, 95

If the median of the data is 63,
then the value of x is

(1) 60 (2) 62
(3) 68 (4) 172
(6) Question not attempted

Seven persons A, B, C, D, E, F and
G are standing in a row
sequentially. The distance between
the first two persons A and B is
10 metre and the distance between
successive persons decreases by

1 metre; then distance between B
and F is :

(1)
)
3
(4)
®)

35 metre
32 metre
30 metre
34 metre

Question not attempted



13. 3If¢ 5§98 4% — 4x2 + x + 6 1 & A i 13. If one zero of polynomial

14.

15.

1'%, TE@IIYIE i
(1) 2748 @2 -2, 8 !
3):2;38 4 -2,-3 |

(5) IrgEIid A

afe e Tefemton & Fm
2 +3y="17

2ax+ (a+b)y=28 _
* S B foemH &, A A e sa A |
qa g ?

(1) a=2b @) b=2a
3) a+2b=0 (4 b+2a=0
(5) IAFad e

IR x = 2 ++[3 B, d@ fm= FeE W famw
B - |

= o 9w foere g -
(1) ®THA,BaCedg|
(2) HYTA, BaDTHE |
(3) HUTA CIDTEE|
(4) HEB,CaDTEE |
(5) 3TFRa WA

14.

15.

(1) 2, =5

x3 — 4x2 + x + 6 is =1, then other
zeroes are

2 -2,3
3) 2,3 4) -2,-3
(5) Question not attempted
If the pair of linear equations
2x+3y=17
2ax+(a+b)y=28

has infinitely many solutions, then
which of the following is true ?

(1) a=2b (2) b=2a
3 a+2b=0 (4) b+2a=0
(5) Question not attem_pted

If x:=:2 + \/—é, then consider the
following statements :

ik -
A. (x + ;) is a rational number.

1 -
B. ( — ;) is an irrational number.

¢ (o (- i rdona
; x = = 1s a rationa

number.

D. (x+l)[ —lj is an irrational

X X

number.

Choose the correct option from the

following :

(1) Statements A, B and C are
correct.

(2) Statements A, B and D are
correct.

(3) Statements A, C and D are
correct.

(4) Statements B, C and D are
correct.

(5) Question not attempted

OB
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1.

18.

OB

B 2r % ug & ™ 3 A H
4y AN SIE d 4r SH9TE & TH oo A
T@T 1T 8 | oo I aXg T | W ST
2 | W LI T A

(T8 " g o ot gof famr worm Bt @
?
(1)
)
3)
4)
(5)

Tt % 3T & TR |
S o AT F IR |
TSt & ST & QTR |
T % G & AT R |

ARG Bl

fermatt 5.5 aft x 10 At x 3.5 B FTEN
Teh T s & fog, 1.75 St =3m| qe
2 firefifier Hier amet foram =idl & foeepl
o1 forererT 9em ?

(1) 200

(2) 800

3) 360

(4) 400

(5) ' Irgiied S

T wE-ge Wi s ae 10 e | 18,
3R 396l FTE 8 HIX 2 | 3% I I8 H |

%A 8 (1 = 3.14)
(1) 194.2 He?
(2) 188.4 Hiew
(3) ' 62.8 Hix2
(4) 125.6 Hiex2
(5) TG ¥

7

|
|
|
|
|
|
|
|
|

16.

17.

A solid metal sphere of radius 2r is
put into a cylinder of internal
diameter 4r and height equal to 4r.
Cylinder is completely filled with
water. The volume of water filled is

(Assume that water
complete blank space)

(1)
(2)
3)
(4)
()

occupy

Equal to volume of sphere.
Half of volume ‘of cylinder.
Double of volume of sphere.
Half of volume of sphere.

Question not attempted

How many silver coins of 1.75 cm
in diameter and of thickness 2 mm,
must be melted to form a cuboid of
dimensions 5.5 ¢cm x 10 em x 3.5 ¢cm ?

(1) 200
(2) 300
(3) 360
(4) 400
(5)

Question not attempted

The slant side of a right-circular
cone is 10 m and its height is 8 m.
The area of its curved surface is :

(m=3.14)

(1) 94.2 m?

(2) 188.4 m?2

(3) 62.8m?

(4) 125.6 m?

(5) Question not attempted



19. PrafaRea § @ fre fawer & oft wsg 9

20.

21.

22.

23.

v @ fffa § 2

(1) T, e, Torr
(2) T, e, TG
(3) e, S, fegErl
(4) g, werd, ol
(5) T A ‘
frferfea # foem gm i 2
(1) =il — wwpfae
) arfavia — feisma
(8) HEER — HER
(4) TS — qHid®
(5) TG T
AR AL AIE R ?
(1) wsafea

2) =i

(3) =BT

(4) =R

(5) I ST

‘Post’mmﬂmﬁ%ﬁ‘

g 7E 8
(1) g (2) 39Ud
(3) = (4) =rH

(5) I

e v w1 wfr-freRe T @ 7
1) =m=F+3

(2) AN = I + A
(3) YUHE =N + HH

(4) ot = a1 + $9

(5) I A

A — —— Tr— TR T—— T ——— R A— — —— T—

24.

25.

26.

217.

o
o

Choose the correct article :

My mother goes to temple
regularly.

(1) a (2) an

(38) the (4) no article

(5) Question not attempted

Choose the correct translation of
the phrase ‘dissemination of
instruction’.

(1) fefasmm (2) ITH I TER
(3) gegE oot (4) o = fa
(5) Question not attempted

Match the prefixes under Column
A with the words under Column B :

Column A Column B
a. mis (1) tie
b. de : (i1) content
c. un (iii) conduct
d. dis (iv) code

(1) a-(iv), b-(iii), c-@Gi), d-@)
(2y a-(ii), b-Gv), c-@Gi), d-@)
(3) a-@ii), b-(iv), c-(), d-Gi)
(4) a-Gi), b-@{iv), c-(1), d-Gid)
(5) Question not attempted

Choose the appropriate passive

form of the given active sentence :

He ought to help her.

(1) She ought to have been
helped by him. :

(2) She ought to be helped by him.

(3) She ought to have helped by
him.

(4) She ought to have been being
helped by him.

(5) Question not attempted

Choose the verb that agrees with
the subject :

Three parts of business left
for me to do. :

(1) is (2) are

(8) are not (4) were

(5) Question not attempted
OB
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TSR &% 9 2025-26 & 3IHER,
e 3d SMER AT # 3 & 6 9
=i % AfNEd N0 gg FwE # fohde
feaa gy 3ucTey HEM 6 v i 7T ¢

1) 3f@w

(2 5fEw

3) 6fem

@ 7f==

(5) 3 A

fFrferRea st w famm =t -

() e fRm = F TR g @9
&g (TReEH) ¥ 26 A, 2025
# wIREHE ¥ = @m sfe
fafits (Tegsmsee) & am e
T WER-fR @@em 2025
(ZSTTETH 2025) T AH R |
e & e ey <9t siahe
Hifer o1 Frrtaam — fRafy 3t afesy
i femmm o1 |
Swfegmu e A A S A /A T R/E 7
(1) e ()

(2) e (i)

®) @) 3 i)

(4) Fd13E) MRAE (i)

(5) FgHid I

(i)

l

i om s um—— Ti—— e——— s—

29.

30.

According to the budget of
Rajasthan 2025-26, under the
Chief Minister Amrit Aahar

Yojana, announcement was made
to provide milk for how many days
in a week for additional nutrition
of children between 3 and 6 years ?

(1)
)
3)
(4)
()

3 days
5 days
6 days
7 days

Question not attempted

Consider the following statements :

(1) National Remote
Centre (NRSO), ISRO,
Bengaluru, conducted the
User Interaction Meet 2025
(UIM 2025) in association
with New Space India
Limited (NSIL) on 26th

March, 2025 at NRSC.

Sensing

Core theme of the meet was
‘Implementation of Indian
Space Policy — Status & Way

Forward’.

(ii)

Which of the statements given
above is/are correct ?

(1) (@) only
@
3)
4
®)

(i1) only
Both (i) and (ii)
Neither (i) nor (ii)

Question not attempted
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32.

33.

it 2025 o FimTeh # v St g | 31.
¥ ¥ R =@ 8w ot ggam &t
et 33 % for w gl T (THITY)
W gEeR Ry e | wRa 3 e
FHATET, T GESAT FIUE W FHER A
AT AT R ATE ?

(1)

(2) wHW

3) fmg

(4) wFF IS G

(5) AN TH

st 2025 # Uele g SMING 64 32.

formes Rrgr-adiem &1 s (ofm) =0

o1 ?

(1) “ferees : AT TEYA FTEEAT 5
grfaq foeema & fore”

2 “fomes : ayg, =i ARG

(3) “fmmes : g, I o AR
1 % e Ui ST=R a9 ggrar

(4) “formes : faane faem @~

(5) g S

e 2025 # g TR hHl, T W 33.
2.om’%mm%f'ﬂﬁﬁt!
= fom w@t & fog T 8787 @@ i
wiiepfer freft 8 7

(1) 7em Hfew gt (IFR)
(2) #f Mideed w4t (SAR)
(8) AT wHfex (ATergRT)
(4) f gz e (Hie)
(5) TgRE

[ ————— S

=
o

In April 2025, a Memorandum of
Understanding (MoU) was signed
to promote regional energy
cooperation through the
development of Trincomalee as an
energy hub. Besides India and Sri
Lanka, which other country is a
signatory to this MoU ?

(1) Japan

(2) Qatar

(3) Singapore

(4) United Arab Emirates
(5) Question not attempted

What was the theme of the 6tk
BIMSTEC Summit hosted by
Thailand in April 2025 ?

(1) “BIMSTEC : For organized

development of Human
Resource Infrastructure”

(2 “BIMSTEC : Prosperous,
Resilient and Open”
(3) “BIMSTEC : National

Treatment and Assistance to
Vessels, Crew and Cargo”

(49) “BIMSTEC . : Dispute
Settlement Mechanism”

(5) Question not attempted

Under the ‘Swadesh Darshan 2.0

Scheme’, of the Central

Government, to which temple of

Rajasthan a sanction of ¥ 8787

lakhs is given for the development

works, in March 2025 ?

(1) Brahma Temple Pushkar
(Ajmer)

(2) Shri Govinddev Temple
(Jaipur)

(8) Shrinath Temple (Nathdwara)

(4) Shri Khatu Shyam Temple
(Sikar)

(5) Question not attempted

OB
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35.

36.

OB

e 2025 ¥ WRA % T8 Risher At domd
B9 1 YHRY T & fha e # feen
™ ?
ey
2
3
4)
(5)

I

EERQ
SR
G[Il‘g{
ERIEGRSEE]

TR a1 R 2021-22° 3R fyefea
Rd a1 §Hg JEHR 2025’ & T&y A
frafefaa wemt w fem =t

(i) TeEE i & T B EF % SN
WL T TEH  AEENS AN
ot w97 & foe “fespfra wra
a1 HEG QR 2025" ® wEIa
o |

TSR & 1. Hgg | & Safeard

uft § TER a1 TR 2021-22° A
gt fomam |

IR U TS A P T/ T R/ 7
(1) %3 ()

(2) 9 (i)

(3) (@) 3R (ii) a=i

(4) A () IRTR (i)

(5) 3FTIRG S

arder 2025 1 T 7 “ofiw wfes (gfa
AT) T HI3hH hHal W g 7

(1) ierarer

(2) rEgr

(8) W

(4) AL

(5) A

(i)

36.
|

11

34.

35.

India’s first sickle cell wellness hub
was inaugurated in March 2025 in
which district of Rajasthan ?

1
2
3)
@
)

Ajmer
Udaipur
Jodhpur
Jaipur

Question not attempted

Consider the following statements
about the ‘National Youth Awards
2021-22’ and ‘Viksit Bharat Youth
Parliament Awards 2025 :

(i) Riya Gupta of Rajasthan was
conferred the Viksit Bharat
Youth Parliament Awards
2025 for the most insightful
and thought-provoking
question raised during the
session.

Dr. Mahendra Meena of
Rajasthan conferred ‘National
Youth Awards 2021-22’ in the
individual category.

Which of the statements given
above is/are correct ?

(1) (@) only

(2) (ii) only

(3) Both (i) and (ii)

(4) Neither (i) nor (i)

(5) Question not attempted

Where was the conference on
“Green Justice” held in Rajasthan
in April 2025 ?

(1) Bhilwara

(2) Nathdwara

(3) Baran

4)
(5)

(ii)

Jaipur
Question not attempted



317.

38.

39.

‘et 3 YU T 2025° # TEIH H

fgendt gam s MU T e & fore

= weEt w famm Hifte 9o @@ fawen

i

YT A : TN & F00 9 A fepg
ot (1.0 kg) ® a1 Fepid s=mm |

Y9 B : 390 U & Tma o1 °§ 4

s 68.18 Ht. w1 |
(1) FITAIRBINIAE |
(2 FTAFTHATIR |
(3) FTAFTFBUAR |
(4) HU AN B TR |

(5) raiE v

FETSI STRSRT & SeEw R
(1) v-ufedl (sdwfa g=a) &

(2) YT 9 &1 qE
(38) vEEq

(4) GI-5ebmT I fRATd H oo TS

(5) 3IrgHIIE A

30 ¥ 2025 i, THISH : I+l A1 Y| 39.

e tynfeRr ame gwsw w1 famem

IERIRCIE

1) el fomm deum™ <@

2 e Ty IfteErR g

(8) fasm 3k forma @Y s
AT, EeEd @r

(4) TG TR STAT TR AR
(5) ARG S
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. An example of

37. Consider the following statements

for the new record created by the

player of Rajasthan in ‘Khelo India

Youth Games 2025’ and choose the

correct option :

Statement A : Hansraj Dhayal of

Rajasthan created a new record in

discus throw (1.0 kg).

Statement B : Hansraj Dhayal’s

new record in discus throw was

68.18 m.

(1) Both statements A and B are
true. ;

(2) Only statement A is true.

(3) Only statement B is true.

(4) Both statements A and B are
false.

(5) Question not attempted

endothermic
reaction is :

(1) Decomposition of vegetable
matter into compost

(2) Burning of Natural Gas
(3) Respiration
(4) Decomposition of silver chloride

into silver .and chlorine in
presence of sunlight.

(5) Question not attempted

On 30tk April 2025, a book titled
‘Ramanujan : Journey of a Great
Mathematician’ was launched by

(1) Institute of- Mathematical
Sciences

(2) National Archives of India

(3) Science and Heritage Research
Initiative Division, DST

(4) Institute of Mathematics and
Applications

(5) Question not attempted

OB
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40.

41.

w, ¥R i T T, w, W H T 51 &

g feet = Y Bd A eEE S R

Ba, A H e o adiadt g, a8
1 w,

2 w,

@) w,+w,

w, -+ Wy
@ =

(5) gaid wH

Ife T SR 1 g7 2000 kg B, 9 FR
%197 10 ms~! ¥ 20 ms™! T W@A #
frar m wE @

(1) 100 kdJ
(2) 200kdJ
(3) 300kdJ
(4) 400kdJ

(5) IR A

42, HETH TH ATET FHAHEAE :

OB

(1) 12 ®: 9g9 919 a7 20 Y 9
Epf

(2) 20%: HeH 909 YT 12 UiE 95 |

99

(3) 16T: HeW 99 AT 16 Ul 4gH |

979

(4) 18®: UCH 919 YT 16 Ui9 4
Coe

(5) IFaiE A

13

40.

41.

42,

A body of weight w, is suspended

from the ceiling of a room through
a chain of weight w,. The ceiling

pulls the chain by a force —
(1) w,

2) w,

B wy+w,

W, + Wy
@ =

(6) Question not attempted

If the mass of a car is 2000 kg,
then the work to be done to
increase the velocity of the car
from 10 ms! to 20 ms~! willbe:

(1) 100kJ

(2) 200kdJ

(3) 300kdJ

(4) 400 kJ

(56) Question not attempted

Fullerene, an allotrope of carbon
contains :

(1) 12 six membered rings and 20
five membered rings

(2) 20 six membered rings and 12
five membered rings

(3)..16 six membered rings and 16
five membered rings

(4) 18 six membered rings and 16
five membered rings

(5) Question not attempted



43.

44.

45.

- ®

e B faume 3 fate 2q wdaqE &1
g Pefafea A a s o s g 2

(1) ¥a =1 faates s

Q) T fratem g, T
3
€Y
(5)

TSI, T
& |fad, TS
FFeRa

WRa % Tgafa & fava § Frafafea e
1 & 4 e :

(@) Tyafa IWgafa 1 deifta @

R 3791 9 T ehd & |

1D TPufd U 39 ATEA DI GIAI
T 1 oft 2 |

T B /H Bl TEET
(1) Faa @)@ |

(2 @O)E NI HE R |
3) Faw () =&z |

@ FAD, TR AD TR
(5) 3w ST

TfETsh %1 98 W S IR A @feafa qun
(1) miErss

(2)
&)
4)
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43.

44.

45.

Who among the following fixes the
time for poll for the Rajasthan
Legislative Assembly elections ?

(1)
@

Election Commission of India

State Election Commissioner,
Rajasthan

3)
4
(5)

Governor, Rajasthan
Chief Secretary, Rajasthan

Question not attempted

Read the following statements
carefully regarding the President
of India :

@

The President can resign from
his position by a resignation
addressed to the Vice-President.

(II) The President will also inform
the Prime Minister about his
resignation.

Identify the correct statement/

statements :

(1) Only (I) is correct.

(2) () and (II) both are correct.

(3) Only (II) is correct.

(4) Neither (I) nor (I) is correct.

®)

Question not attempted

The part of brain responsible for
maintaining the
balance of the body is

(1)
2
3
“@
(5)

posture and

Cerebrum
Cerebellum
Medulla
Mid-brain

Question not attempted

OB



46, @waw § -y @ @=fR@; 46. Consider the following statements

freferfaa st w e Hifte regarding  censure-motion  in
Loksabha :
O frer-yE w&ga F g 9 H : :
(I No leave of House is required
At v T 8 | to move a censure-motion.
an Fr-sweme w@feive a0 e (@1} Censure-motion can be moved
T a1 whE % et wig & fovg against the Council of
H F0 T ATFA @ AT BR A Ministers or an Individual
w‘wwm%ﬁﬁw Minister or a group of

Ministers for the failure to act
or not to act for their policy
and may express regret,

foran < wehar 8 3R IEH Wt @
3t i FAEHAAT W e, Y AT

Y o R ST A 8 | indignation or surprise of the
House at the failure of
a8 farerea 1 93w hifv
Minister or Ministers.
@) DFR Choose the correct option :
2 FaaADEER (1) Only () is correct.
@) W) aEE | (2) Only (II) is correct.

(3) Both (I) and (II) are correct.
(4) Neither (I) nor (II) is correct.
(6) SHIARA N (56) Question not attempted

(4) ), TE A T 2l

47. ¥NG % GUE %1 B A1 3TDG H5E| 47. Which of the Article of Constitution
Tfiafee & el &1 TSI & TUE & g of India mentions the ‘Individual

=R Ioee w1 g ﬁﬁﬁi responsibility to the Head of the
| State’ of the Central Council of

FAR 7 I Ministers ?

(1) =T 75(2) g (1) Article 75(1)

(2) 3T 75(2) | | (2) Article 75(2)

(3) 3T 75(4) I (3) Article 75(4)

(4) IFRT 75(6) | (4) Article 75(6)

(5) IIARd W ! (5) Question not attempted

OB 15 o



48.

49.

50.

51.

TSR 6l oaTs Ta dters $ giat o
ToraT 3t (fepetiviex &) 2 2

(1) 44fsdft. (2 43w,

3) 45fmif. (1) 42fF.

(5) 3guRa ¥

T B B i 1B Te-IEet 8§ fRm
g7

(1) - (2) SWyEa

(8) AT U (4) faarelt

(5) rguRd ¥

T T I %qutmﬁ?ﬂﬂ'@
AR ?

(1) ¥R (2) HiEmEa
(8) doE=I (4) @ugan
(5) IFFENG T

g wfge M F SRR ¥ oTER,

ﬁnmframﬁvma}mﬁanqﬁf

fra ST g ¢

A) gu/EEAe fEc @ g=wfRa
IBEARK]

(B) AT AT/~ & TH&
feremefia 2 |

(C) fogwrga: I wm«l @ mﬁm{
Rreerra '

&l farehea 1 === i

(1) e (A) W@ (B)

(2) 9 (A) @ (C)

(3) %a« (B) W (C)

@ &), B)TE(C) |

(5) e S |
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48.

49,

50.

51.

What is the difference (in
kilometers) in the distance
between the length and the
breadth of Rajasthan ?

(1) 44 kms (2) 43 kms
(3) 45 kms (4) 42 kms
(5) Questi_on not attempted

Which hill is situated in the Mid-
Aravalies ?

(1) Nag-Pahad (2) Dora Parbat
(83) NagPani (4) Bilali
(5) Question not attempted

At which place Gagghar River
generally vanishes ?

(1) Bhatner (2) Kolayat
(3) Talwara  (4) Khandela

(5) Question not attempted

As per the Mandate of the National
Commission for Women, which of
the following complaints are not
entertained ?

(A) Complaint related to labour/
industrial disputes

(B) Matter is subjudice before the
Court/Tribunal

(C) Complaint related to purely
service matters

Choose the correct option :
(1) Only (A) and (B)

(2) Only (A) and (C)

(3) Only (B) and (C)

(4) (A), (B) and (C)

(5) Question not attempted

OB
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52. SFRTUMT 2011 % 18R, W@ fFa f a‘:l 52.

53.

54.

55.

OB

o st fefmgaTa (0-6 a) 912 1 ?

@iida - @)

@ @ (4) wH

(5) IIERG A

o & fafafea § & fha e 4,

“TTEE Uk T R 7

1) (2) SR

(3) wr (4) AR

(5) rgafd S

frfifa T A S W EARTE T & 7
$¢ i T &

(1) AT aaaﬁt_

2 T3 GG TR AT

(3) U T 3R IE

@) Fe TR 3R EFHTE

(5) IR A

g & o el & w1y sfiden wsham; 55.

UIRFET o AR & TSTEH 9gad & ?

1) TgEE (@) @
® 4) gehagan
(5) T SRA
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53.

54.

As per Census 2011, how many
districts were having a child sex-
ratio (0-6 yrs) of 912 ?

(1) Three (2) Four
() Two (4) Five

(5) Question not attempted

In which of the following district of

Rajasthan is ‘Spice Park’
established ?

(1) Tonk (2) Jaipur

(38) Kota (4) Bharatpur

(5) Question not attempted

Which. of the foliowing is mnot
matched correctly ?

Breeds of Area
Camel
(1) Nachna Jaisalmer
(2) Gomath Jodhpur and
: Nagaur
(8) Kerupal Bikaner and
Churu
(4) Kutchi Ganganagar and
Hanumangarh
(5) Question not attempted

With which winds do temperate
cyclones reach Rajasthan via
Pakistan in winter season ?

(1) Westerlies (2) Trade winds
(3) Loo (4) Polar winds

(5) Question not attempted



56. SEATfed, ‘A TS PN, Toe™ %! 56. Initially, ‘Green Energy Corridor’

57.

58.

59.

et e fredt o & i 2 |
(1) ®: Q) U=
3 9@ (4) =
(5) IrTTNa T

fr=feRaa # @ fore wum W gt 991 @ 57.

fRmadie ?
(1) emErer 2 == |
(3) SEIX (4) SR
(5) rgaRa T

HigereT & FIER A fwm i v W 58,

e i o8 = s Afwar =t
Aehd: GadE § TEfeTd FWIRER JHe
T Al & e Jiehar €, @i Afewar
I T TR HE TR ?

(1) fcewar 1 @-wfemd ww

(2) Afeepar 1 Mwfena =1

(8) fcrenar =1 wfewa &

4) ﬂmww.@mm

(5) rgaia ¥ |

Wﬂ?{ﬁﬁmﬁﬁﬁgﬁﬁﬁﬁqmﬁmim,
e @ U A R 7 |
(1) Ternfamm i
@ |
(3) Te-wiTeE }
|
|

(4) ST B
(5) rgaRa ¥
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will pass through how many
districts of Rajasthan ?

(1) Six (2) Five
(3) Seven (4) Three
(5) Question not attempted

At which place of the following,
Cotton Textile Mill is not located ?

- (1) Bhilwara (2) Beawar

(3) Udaipur (4) Jalore
(5) Question not attempted

According to Kohlberg ‘a stage of
moral development during which
individual judge morality largely
in terms of existing social norms &
rules’, is known as which level of
morality ?

(1) Pre-conventional level of
morality

(2) Un-conventional level of
morality

(8) Conventional level of morality

(4) Post-conventional level of
morality

(5) Question not attempted

Which one of the following is not a
mining/reserve area of Rock
Phosphate in Rajasthan ?

(1) Birmania

(2) Maton

(3) Goth-Manglod

(4) Dakan Kotra

(5) Question not attempted

OB




60. w@muﬁmﬁ,ﬁm%m,ﬁiﬁo.

61.

62.

OB

=fed TH GHENS THK H A9 HES

qraTiTe e & T B 3R TS % ufafda
Tl % AR, 3194 favarEl #1 see aar
2, 98 eI 2

(1) NS

(2) IMHITERR (TRfiHit)

(8) Eg THUHHRI

(4) TSIHal

(5) ST SRA

Shrret Meme % U, FefaRea § @
I U1 Toh GATIeH fg 1 8 T2l & 7
(1) AT

(2) IATCH-GHE

(8) TE-SFTEShdl

@) P |
(5) 3FFTIid ¥

UG & HAJAR, ATEHATHS A B

IR iRt sevas & | 39 gt

HERFAR

(1) fimon - @A - g -
RGAIRIEE]

(2) 3@YN — gRuw - JfERon -
gaecdie

(8) 3IEUH - ARPOMT - RO -
NGAIRICE]

(4) 3IFEUHR — URU — GAEAEA —
AT

(5) TgaRa A
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61.

62.

In the process of adjustment,
according to Piaget, in an adjustive
mode, a person takes her/his
standard from social context and
changes  her/his  beliefs in
accordance with the altered values
of the society, is called : -

(1) Accommodator
(2) Assimilator
(3) Conflict resolver

(4) Organizer
(5) Question not attempted

According to Danial Goleman,
which one of the following is not a
component of emotional
intelligence ?

(1) Motivation

(2) Self-esteem

(3) Self-awareness

(4) Self-regulation

6

Question not attempted

According to Bandura, four
conditions are necessary in
observational learning. The right
sequence of these conditions is :

(D

Motivation — Attention -—
Retention — Reproduction

(2) Attention - Retention -
Motivation — Reproduction

(3) Attention - Motivation -
Retention — Reproduction

(4) Attention — Retention -—
Reproduction — Motivation

(6) Question not attempted



63. fr=faRan & & #F € T AT waEm

64.

65.

i fdwar 7 8 7

(1) I8 Safeds GeAsiierdr U Hiferehdn
FHfpmeaal

(2) T wiaerh! 1 SrEER ggaTh g
21

(8) @ YR % vdayw d§fe w
Aehaaa it &1 s s |

(4) I§ wUAEAUE Ud et
il o o % R e s ? |

(5) 3aia FE

gy e sfweme wheft fien % g w
Tt 8 Rt foream 2

(1) v& wfes § wa XII 0
(2 FABFMIAXTH

(3) Faa Han I ¥ VIII ah

(4) et ST IX ¥ XII 7

(5) 3IrFTRd A

63. Which of the following is not a

64.

characteristic of  constructive
supervision ?
(1) - 1% develops individual

creativity and originality.

(2) In it supervisors’ behaviour is
supportive.

(3) This type of supervision uses
the scientific and democratic
methods.

(4) It is done to know the
difficulties of the headmaster
and teachers.

(5) Question not attempted

‘Samagra Shiksha Abhiyan’ is a
scheme for school education which
extends from

(1) Pre-primary to Class XII
(2) ClassIto X only

(3) Class I to VIII only

(4) Class IX to XII only

(5) Question not attempted

I Weft 1 T yr ford iR qe1| 65. A type of leadership style in which

wfF R o g & )
i 7€ & wwa, Feemar e |
(1) S g

(2) e Ao
(3) ITEEATH A
(4) e g

|
|
|
|
|
|
(5) e e ;
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authority and power can be
decentralized but responsibilities
can not be decentralized, is called :

(1) Democratic leadership
(2) Autocratic leadership
(3) Laissez-faire leadership
(4) Personal leadership

(5) Question not attempted

OB




66.

67.

68.

OB

IR 3. fafEm-2009 % STER, e
ITireRRT g SR e it urga=at 3k
TeATeh UfshaT STTIehfY (Si$ $18) Hed
Ty frafafgs & @ o9 @ e =
it T ferrmn & 2

(1) &l 7 WA (SATEEINE) B ST
o1 A1ey R aT H 8 |

Hferem # st gt & e |
Tiafafr grr 3t sTa-Hisa ol
7 arferm |

1o i W, A 3tfEma 3k
T (gfemam) g s |

TR T

)
3)

4)

(5)

AR.E1.3 Ataf=m, 2009 % TEUHHER, |

F1 T A giE % T 3R vafide amert
$I @& 91 ¥ 120 % 9 g, a fFa
Tregent <t SrTavIeRar anft 2

1 2@ (2) 3 (<)

3) 4 (IW) 4) 5 (49)

(5) I A

TSR R Y Thel o gRI T0&T | s+
% for Foraferiaa # & fore fowar/ ferm foraat
&I arfvaeiar TE 2 7

(a) Tfm@

(b) fowm

(c) sh

& IR &1 T 2 A T g2 w1 3w
HTh Hiv : :
$c:

(1) (a)FA(c)
(3) e (a)

(5) 3gERE

@ ®T(
(4) 54 ()
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66.

67.

68.

According to RTE Act-2009, which

one of the following consideration
is not included by academic
authority while laying down the
curriculum and evaluation procedure
of elementary education ?

(1) Medium of instruction as far
as practical be in Hindi
language.

Conformity with the wvalues
enshrined in the Constitution.
Learning through activities
and child centered manner. -
Making the child free of fear,
trauma and anxiety.

Question not attempted

(2)
&)
(4)

®)

As per the provisions of RTE Act,
2009, if the number of children
admitted for classes one to five is
between 91 to 120, then how many
teachers will be required ?

(1) 2 (Two) (2) 3 (Three)

(3) 4 (Four) (4) 5 (Five)

(5) Question not attempted
Which of the following subject/s is/
are not compulsory to appear in

the Rajasthan State Open School
Examination ?

(a) Mathematics

(b) Science

(¢) English

Select the correct answer by using
the codes given below :

Codes :
(1) (@and(e (2) (b)and(c)
(3) only (a) (4) only (b)

(5) Question not attempted



69.

70.

71.

AT Aedd 1, faftreg e 3tk 9@

TR foeres & aR # Terd % T |
(1) T doYd 18 3 99" SufEyH
arferforerm =1 forg o |

ferfrreig; arer wiiefoh g g fope g
STEEINT TG o foieft & |
g3 0 Irer-fave,  Se-
aftrem o STTer-geE 3= H
% fore foreres 3 o1 e 3 @
w1 fohe |

1907 3 e 3 rfad = ¥ fwg
—1reh TR & T & |

(5) IrFuRa S

39 T 1 T4 Fa1¢ J&1 JYH THR =
TS S Y I T g & vE
S =T Shaer e |

(1) wEfE

(2) =ten!

(3) =i

(4) s

(5) rgaRa =

g T, Frem fer-gar 7R i qE1et
ed™T, Ul

(1) =g e

2) FHE

(3) PARIWI

(4) W

(5) IrgaRa I

2)

3

4) -
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69.

70.

71.

Choose the incorrect statement
regarding Lala Lajpat Rai, Vipin
Chandra Pal and Bal Gangadhar
Tilak.

(1) Lala Lajpat Rai opposed the
Punjab Colonisation Act.

(2) Vipin Chandra Pal was against
the Non-Cooperation Movement
initiated by Gandhiji.

To generate self-confidence,
self-sacrifice and self-defence
amongst youth, Tilak founded

Lathi clubs and Akharas.

Pal gave evidence against
Aurobindo Ghosh in the legal
case in 1907.

3

4

(6) Question not attempted

Name the place where Japanese
Government decided to transport

Subhas Chandra Bose before his
aeroplane crash incident.

(1)
(2)
3
4)
®)

The king who artistically minted
the Rhinoceros-Slayer type coins

was
(1)
2
3
4)
(5)

Manchuria
Moscow
Berlin
Kabul

Question not aftempted

Chandragupta II
Samudragupta
Kumargupta I
Skandgupta

Question not attempted

OB




72. Tr=faRga # @ free ‘T A
T we wwEshayE T 3’ yfeee aur

73.

74.

75.

OB

fparem ?

€y
@
3
4
(6)

feeeht & Al = Wi @ aen 9EE

TR Grg
=t.&f. &
A.w=. g

AR . JTE

HATANT T

YTH S AT ?

€y
2
3)
(4)
()

1593 # et % Traftig ot darat & yE=
BIhT 3TheR A I8 FaWH ORI A fohe T

R el
[EDEERTGIR
U
TomreT =g
FRT =

! AFTR Y <t ?

(1)
@)
3
(4)
(5)

L
SR HEN

qe

SETTE
FRT I

ﬁﬁaww%dwmﬁqﬁ?

(1)
@)
3
(4)
(5)

1. 3TR. g
IR, g
EAGA S
.. i
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72.

73.

74.

Who among the following prepared
‘The Archaeological Remains and

Excavations at Bairath’ report ?

(1) Daya Ram Sahni

(2) B.B.Lal

(3) T.H. Handley

(4) R.C. Agrawal

(5) Question not attempted

The Chauhan ruler who defeated

Tomars of Delhi was

(1) Durlabhraj III

(2) VigrahrajII

(3) Arnoraj

(4) Vigrahraj IV

(5) Question not attempted

In 1593, pleased with the services
of Rai Singh of Bikaner, Akbar
gave him the Jagir of which place

in present Gujarat ?

(1) Surat

(2) Ahmedabad

(3) Bharauch

(4) Junagarh

(5) Question not attempted

Who was the founder
Independent Labour Party ?

(1) B.R. Ambedkar

(2) R.B. Bose

(3) J.L. Nehru

(4) M.K. Gandhi

(6) Question not attempted
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